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Could you please choice the correct answer:






1. Example on hyperfunction of pituitary hormone secretion:
A. Gushing’s syndrome.

B. Adison’s disease.

C. All of the above.
D. None of the above.
2. Example on hypofunction of pituitary hormone secretion:

A. Gushing’s syndrome.

B. Adison’s disease.
C. All of the above.

D. None of the above.

3. ________ is due to dustruction of the adrenal cortex with deficiency of all it’s hormones:
A. Primary adreno cortical hypofunction.
B. Secondary adrenal insufficiency.

C. All of the above.

4. ________ is due to on herited enzyme deficiency in the biosynthesis of cortisol:
A. Primary adreno cortical hypofunction. 
B. Congenital adrenal hyperplasia. 

C. All of the above. 

5. Assay of drug level to monitor therapy is indicated for:
A. All drugs.
B. Few drugs.
C. None of the above.

6. Knowledge of the __________ of the drug is necessary to interpret:
A. Name.

B. Pharmacokinetics.
C. None of the above.

7. The best way of assessing whether the dose of a drug is optimal is:
A. Clinically.

B. Laboratory.

C. All of the above.
8. Chemical monitoring is useful, if there is a ________ between therapeutic and toxic drug levels:
A. Wide margin.
B. Medium margin.

C. Narrow margin.

D. None of the above.

9. Compliance for the drugs may fail due to patients:
A. Fail to lake the drug.
B. Not take prescribed.

C. Take drug irregular.

D. All of the above.

10. In drug assay, if blood taken before absorption of the drug afalsly _______:
A. High level detected.
B. Low level detected.

C. Normal level detected.

D. None of the above.

11. In drug assay, if blood taken after absorption but before distribution, aflasely _______:
A. High level detected.

B. Low level detected.

C. Normal level detected.

D. None of the above.

12. Factors affect on the drug level in plasma:

A. Absorption.
B. Metabolism.
C. Excretion.
D. All of the above. 

13. Absorption of drugs depends on whether the drug:
A. Lipid _ Soluble.

B. Water _ Soluble.

C. All of the above.
D. None of the above. 

14. The rate of drug absorption affected by:
A. Timing of ingestion.
B. Gastric emptying. 

C. Malabsorption syndromes.
D. All of the above.
15. Many drugs are protein – bound in plasma of binding is not affected by:
A. Abnormalities in plasma protein Conc.
B. Competition for binding site on protein. 

C. All of the above. 

16. The time taken for plasma drug Conc. To fall to half it’s original level:
A. Elimination half live.
B. T 0,5.
C. All of the above.
17. Elimination half – life depends on:

A. Rate of disruption. 
B. Rate of metabolism and excretion.
D. All of the above. 

E.    None of the above. 

18. Metabolic conversation of the drug are:

A. Active form.

B. Inactive form.

C. None All of the above.
D. All of the above. 

19. Drug that absorbed in to portal system are inactivated by:

A. Kidney.

B. Heart.

C. Liver. 

D. None of the above. 

20. The rate of metabolism of some drugs depends on:

A. Ag of patient.

B. Genetic factor.

C. None of the above.
D. All of the above. 

21. Tolerant patient need _______ that normal of produce the desired effect:

A. Lower level. 

B. High level.

C. Normal level. 

D. All of the above. 

22. To calculate the appropriate dose of drug, it is depend on:

A. Size of patient.
B. Shape of patient.
C. None of the above. 

23. Measurement of drug levels to monitor treatment is necessary if:
A. Clinical picture suggest taxicity.

B. Frequency of fits increases.

C. Difficult to calculate approperant dose.
D. All of the above.

24. To measure aminoglycoside level, it’s necessary at:
A. Three different times.

B. Tow different times.
C. Four different times.
25. To confirm diagnosis of suicide patient, screening on:

A. Plasma.

B. Urine.

C. Gastric aspirate. 

D. All of the above. 

26. Drugs and other toxins can be considered in:

A. Three main groups.

B. Tow main groups.

C. One main group
27. Antidote is only useful if:

A. Given within defined period. 

B. Defined plasma level is reached.
C. All of the above.  

D. None of the above. 

28. Paracetamol are examples on poisons for which there is:

A. Specific antidote.

B. Specific protein _ pound.
C. None of the above. 

29. In iron over dosage, desferrioxamine chalets iron, and lost it in the:

A. Plasma.

B. Gastric aspirate.
C. Urine.

D. None of the above.
30. Specimens of all serious cases of poisoning should of stored in:

A. Refrigerator.

B. Sealed containers.

C. Labeled.

D. All of the above. 

31. Specimens of all serious cases of poisoning should be kept at least: 

A. Three days.

B. Three weeks.

C. Three months.

32. ELISA is suggests:
A. Enzyme linked immunosrbent assay.

B. Enzyme immunosrbent.

C. Enzyme linked essay.

33. ELISA techniques:
A. Specific.

B. Sensitive.

C. Require small amount of sample.

D. All of the above.

34. The result of qualitative ELISA technique can be read:
A. Visually.

B. Microscopically.

C. Reader.

D. None of the above.

35. In ELEISA technique _________ of specimens tested of one time:
A. Small numbers.

B. Large numbers.

C. None of the above.
36. ELEISA assay uses an ________ to show specific combination of any age with it’s Abs:
A. Enzyme system.

B. Chemical system.

C. Physical system.

37. The enzyme system consists of:
A. Enzyme labeled specific Ab or Ag.

B. Substrate.

C. None of the above.

D. All of the above
38. In ELISA, the intensity of the color gives an indirection of the amount:
A. Bound Ag.
B. Bound Ab.

C. All of the above.

39. In ELISA technique, Ag or Ab is coated on:
A. Gas surface.

B. Liquid surface.

C. Solid surface.

40. There are _______ main ways of performing ELISA:
A. Tow.

B. Three.

C. Four.

41. Enzymes used in ELISA techniques must be:
A. Stable.

B. Soluble.
C. All of the above.

42. The most commonly used enzymes in ELISA:
A. Horseradish peroxidas.

B. Alkaline phosphatase.

C. All of the above
43. Indirect ELISA is used in diagnosis of:
A. Parasitic.
B. Bacterial infection.

C. Fungal infection.

D. All of the above.

44. Radiommunoassay used when _________ are required:
A. High specificity.

B. Low specificity.

C. All of the above.
45. Equipment and reagents in RIA are:
A. Expansive.

B. Cheap.

C. Unavailable.

D. None of the above.

46. RIA technique is similar to ELISA technique, except, a ______:
A. Chronopher compound.

B. Radioactive compound.

C. All of the above.
47. In RIA, ________ is used to measure the radioactivity of the labeled Ab:
A. Photometer.

B. Gamma. Spectrometer.
C. Refractometry.

48. Plasma enzyme assays are useful in detection of raised level due to:
A. Cell damage.

B. Cell building.

C. Cell activity.

D. None of the above.

49. Enzyme estimations may of value in Diagrams of:
A. Myocardial infection.

B. Liver disease.

C. Bone disease.

D. All of the above.

50. Enzyme may inhibited by:
A. Reversible inhibitors.
B. Irreversible inhibitors.

C. All of the above.

D. None of the above. 
51. There are types of enzymes specificity:
A. Optical specificity.
B. Group specificity.
C. Absolute specificity.
D. All of the above.

52. Enzyme present _________ the cell comartement:
A. Outside.
B. Inside.
C. All of the above.

D. None of the above.

53. Enzyme is a ________ whitch catalyst one are more specific biochemical reactions: 
A. Lipid.

B. Protein.

C. Polyseccharides.

54. Plasma enzyme levels depend on:
A. Rate of release damage cell.

B. Extent of cell damage.

C. Rate of cell proliferation.

D. All of the above.

55. Diagnostic precision of enzyme may be improved by:
A. Iso enzyme determination.

B. Estimation of more than one enzyme.

C. Distribution of enzymes.

D. All of the above.

56. Plasma enzyme activates must be interpreted in relation to:
A. Sex.

B. Age.

C. None of the above
D. All of the above.

57. Are a group of enzymes whitch hydrolyse phosphates at high PH:
A. AST.

B. ALT.

C. ALP.

D. LD.
58. _________ is produced by pancreas and parotid glamde:
A. Amylase.

B. LD.

C. ALT.

D. ALP.

59. ______ also known as creatine phosphokinase: 
A. ALP.
B. CK.

C. LD.

D. AST.
60. CK isoenzymes:
A. BB (CK).
B. MM (CK).

C. MB (CK).

D. All of the above.

61. _______ is produced by pancreas:
A. CK.
B. LD
C. Lipase.
D. ALP.
62. ________ Catalyse the reversaible interconversion of lactate and pyruvate:
A. LD.
B. CK. 

C. AST.
D. Amylase.
63. Normally ______ drains from the prostate:
A. ALP.
B. Acid Phosphates. 

C. AST.
D. ALT
64. Conjugated bilirubin is _______: 
A. Water soluble.

B. Toxic.  
C. Fat soluble.

D. All of the above are correct.

65. Post-hepatic jaundice is caused by _______:

A. Liver cirrhosis with toxins.

B. Liver cirrhosis with viral infection.

C. Hemolytic anemia.

D. Gall stones.

66. There is no bilirubin in urine in cases of _______:
A. Hemolytic jaundice.

B. Hepatic jaundice.

C. Post-hepatic jaundice.

D. None of the above.
67.  Bilirubin in pre-hepatic jaundice is _______:

A. Mostly unconjugated.

B. Mostly conjugated.

C. Usually very low.

D. Is half conjugated and half unconjugated.

68. Brown urine with yellow stool suggest _______:

A. Hemolytic jaundice.

B. Hepatic jaundice.

C. Post-hepatic jaundice (biliary obstruction).

D. None of the above is correct.
69. Antidiuretic hormone(ADH) and oxytocin are secreted from _______:

A. The posterior lobe of the pituitary.

B. The anterior lobe of the pituitary.

C. The middle lobe of the pituitary.

D. The left lobe of the pituitary.
70. Somatostatin inhibits _______:

A. Basel Growth hormone 

B. ACTH

C. LH 

D. All of the above

71. Suppression tests are used mainly for _______:

A. Deficient hormone secretion 

B. Excessive hormone secretion 

C. Cardic enzyme 

D. A & C

72. All of these enzymes are used to detect myocardial infarction EXCEPT:
A. CK

B. AST

C. ALT

D. LD

73. A high serum IgG & IgA suggest _______:

A. Cirrhosis

B. chronic active hepatitis 

C. Gilbert's Disease 

D. Cholestasis 

74. Excessive production of RBCs (hemolytic anaimea) occur in:
A. Prehepatic jaundice.

B. Hepatic jaundice.

C. Post-hepatic jaundice (biliary obstruction).

D. None of the above.

75. Excess ACTH will cause _______:

A. Acromegally and gigantism.

B. Amenorrhea, infertility and galactorrhoea.

C. Cushing syndrome.

D. Hyper thyroidism.
76. Normal digestion start in mouth, All of these true except:
A. Enzyme used trypsin 

B. Food mechanically broken down by chewing

C. Saliva contain amalyse

D. All of the above

77. Intrinsic factor are essential for:

A. Vitamin B12 

B. Vitamin C

C. Fat 

D. Amino acid

78. Normal absorption depends on:
A. Large surface area of cell

B. Presence  of nutrient in absorbable form

C. None of above

D. All of the above

79. All of these true about HCl except:
A. It helps iron &calcium absorption 

B. Antibacterial action 

C. It helps iron &calcium digestion 

D. Stimulation hormone secretion

80. Plasma trypsin enzyme measured by:
A. Electrophoresis

B. Immunoassy

C. Endoscopy 

D. Histological examination

81. All nutrients from the gastrointestinal tract pass through the sinusoidal spaces except:
A. Protein

B. Carbohydrate 

C. Fat 

D. All of the above  

82. Primery bile acid is:
A. Cholic acid 

B. Chenodeoxy cholic acid 

C. A & B

D. Dexoycholic acid 

83. All of these are substance are inactivated and excreted by the liver except:

A. Bilirubin

B. Steroid

C. Amino acids 

D. Drugs 

84. Bilirubin metabolism may be assessed by all of these except:

A. Measuring level of plasma bilirubin

B. Measuring level of plasma unconjugated bilirubin 

C. Visual inspection of the stool  

D. Visual inspection of the urine

85. All of these are organic substance of bile secretion except:
A. Bile acid 

B. Mucin

C. Cholestrol

D. Bicarbonates 

86. Increase of plasma unconjugated bilirubin  damage:

A. Brain cell

B. Liver cell

C. Intestine cell

D. All of the above

87. Which of these enzyme is Fecal enzyme:

A. Trypsin 

B. Amalyse

C. Lipase

D. All of the above

88. All of these true about fecal enzyme except:

A. Variable due to bacterial degradation  in lumen

B. Diagnosis of pancreatic hypofunction in adult             

C. Fibrocytic disease in infant 

D. Diagnosis of pancreatic hyperfunction

89. Request for occult blood testing are usually made to investigate the cause of:
A. Iron deficiency anemia 

B. Peptic ulcer 

C. Carcinoma

D. All  of the above

90. nomraml digestion & absorption which depend on bile salts & lipase is for:
A. Protein 

B. Fat

C. Carbohydrate

D. Starch

91. Hypeosecrtion of gastric juice occur in:
A. Duodenal ulceration

B. Zollinger-Ellison

C. Iron deficiency anemia

D. Pernicious anemia

92. Thyrotoxin is secreted from:
A. Pituitary gland

B. Thyroid gland

C. Suprarenal gland

D. Non of the above

93. The brown color of the stool is due to the presence of:
A. Urobilinogen

B. Urobilin

C. Porphyrin

D. Bilirubin

94. Increased Hb destruction , the liver is unable to cup the greater load of pigment and bilirubin level well rises this is called:

A. Hepatogenous jaundice

B. Hemolytic jaundice

C. Obstructive jaundice

D. Non of the above

95. It’s caused by liver parenchyma damage , the excretion of bile greatly decreased and the concentration of bilirubin in the blood rise:
A. Hemolytic jaundice

B. Hepatogenous jaundice

C. Obstructive jaundice

D. None of the above

96. _______ Will interfere with the chemical determination of bilirubin giving high variable results:
A. Hemolysis

B. Hemoglobin

C. Vitamins

D. Hormones

97. In hemolytic jaundice there will be increase _______ in serum:
A. Direct bilirubin

B. Indirect bilirubin

C. Total bilirubin

D. All of the above

98. Anti diuretic hormone (ADH) secretion is controlled by:
A. Rennin angiotensin

B. Plasma osmlality

C. A & B
D. None of the above

99. Gonadal hormones estimation is important in:
A. Detection of ovulation

B. Assessment of amenorrhea

C. Evaluation of delayed puberty

D. All of the above

100. The secretion of gonadal hormone is controlled by:

A. LH

B. FSH

C. TSH

D. A & B
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